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m J000O0 000 [eb)0000000O000O00ODO0ODO
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00009000 A={z,z1,...,2xy} 0000000 [z;_,2,] 0000
000000000000

N N
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j=1 j=1
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6)0 000 the definite integral.
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8)DDDcontinuous, 00000a continuous function.
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00000 [0, 00 2 002z+h0 [0,b)000000 hOOOOOOO 5600

z+h x
F(x+h)—F(x):/a ) dt—/a £t dt
:/;f(t) dt+/:+h ) dt—/: f(t)dt:/:+h () dt.
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F(z+h) — F(x) 1| ek
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F(t)dt — / ) dt'
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{r@) - }dt‘ |f(t) — f(z)| dt‘.
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5.2 0OO0OO0O0OO0OODOO

g0o0o0ooboooobo200bb00b0b0o0boboooboooo
gooooooooooooboobobbobbbobbbobbbbbbbbobon
goooooooooooobobbobobbobobboobooooo

000 [a,b] 0 [¢,d DOOD

[a,b] x [e,d] = {(z,y) |z € [a,b],y € [c,d]}
={(z,y)|aLz<bc<y<d}CR?

0 [a,0] 0 [,d D0O0O0 0000000000 R2O0DO00OO0O0
0000o00o0o0Uo0oU0od [eb 0 [,dD0D00D0OOOO
(5.5) a=29<x1 < < Ty =b, c=y<y < <y,=d
00000000 I=(abx[ed 00mn000000000000000

I=[abx[e,d = | A Ap=lrj-12] X lye-1, 3]

0000020000000000000000000000000000
0YNooooo0000D0000 ADDODDOOODODOOO0

|A] :=max{(z1—z0), (x2—21), ..., (@m—Tm-1), ¥1—Y0),-- -, Un—Yn—1)}
00000000000 00000

m 0000000 R2000000000000O0O0O00COOOOOO
0 (03000)00000000Yooooo f,...,f,0000

{z e R?*| fi(2) 20,..., fo(z) 20} CR?
000000000000 R2O0DO0O0000000O0R200000 DO

0000000000 0O00O000 I0000 DCclIO0OOO0O0O0O0OOR?
0000000000000 0000000000 190

13000 the Cartesian product; 0000 a rectangle.
MO0000000000000000000000 (atleast) J0000 at most 0000
¥)0000a closed set0 0000 the comlement.

16)I]EIDDI]aboundedset;DDI:IDDDI:I: a compact set. 000000000000 O0OOOO
00000000000 0OR®" 00D0D0OD0O0D0ODO0ODOOO0OO0OOODODODOODDOODOODOOO
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DD i) (@ — @) (e — i)
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oooooo ‘A| O ODDDDDDDD(&jk,nﬂC) goooooooooon

0000000000000 f0 JO0000DOODO0DOODOO0O0O0OO
0000 IDOD f00000D0DO000OOOOO YOo0DO0000O0On ®0

//I f(z,y) dzdy.

s 000000000000 OO0 R2O0O0000000O00 DOOOO
00000 fO0000O0OO0O00OO0O0DOOODOO IODDOOOOOO

. f(z,y) ((z,y) € D)
flz,y) =
0 ((z,y) € D)
0000/ 000 fO0O000OO00O000D f0 DOODOOOOOOOO

//Df(:v,wdxdy://If(w,wdxdy

00000000 fO0 DOOOOOOOOO 90

s 000000 000000000 DCR?2ODOOOOO0 fla,y) =1
ooooooooooopOoooooooo

(5.6) D] = //D d dy

0O DOOOOoOo 200

)0 0000 double integral; 0 00 O O multiple integral.
¥)ppooooooooon fl:l 20000000000000000000DO
¥)opoOoO0000000000 DOOOOOO I 0000000000
20)0000000a measurable set; 00O area.
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m 00000 0000000 DCR?0O0DO0O0O0O0O0 00000
0000 pOOOOoOoOOO OOoOOOOO fDI]D[ID foooo
ugbobooboooooooboobobobobobobooooobooban
gboobooooon

00 5.17. R 00000000000000O0 DOOOOOOOOOD
O fO0pO0O0OOODQDOOOO

0 5.18. 00000000 [ = [a,b x[e,d c R”2 000000 |I] =

(b—a)(d—c)ODODOO O
goboogobooobboobboobbooobooobboobon

goboboobobooobooobobooboobog

00 5.19. 00 [¢,b) 000000 (1000) 0000 o(z), ¢(z) O
o) <y() (e<2<b)0000000000000DO00

D:={(z,y) eR*|p(x) Sy = ¥(v),a = v = b}
000 (0000)00000R?2000000000000000000D
00000000000000
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(5.7) / fzy dwdy—/ l/( ) f(m,y)dy} dz.
a w(z

0 (5.7 00000010000000002000000000000
002900 (5.7)0000000000000000000

b ¥ ()
][ dzz/m f(x,y)dy.
a »(x)

005.190000000000000 [a,b] 000 a=20 <21 <+ < T =b0
000000000 [#j_1,2;] 00000 DOOO
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0000 fO00000C0CC0COOCOO0O000000
P(xj—1)
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p(zj—1)

000000000 jOOODODODOODOODOOOD |Al—0Q000O0O0100DO
oooooooooooooogono O

2)00000an iterated integral.
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0 5.20. 000 [a,b]x[e,d CR2O0000000000 f(z,y)00000
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(2) FOOOODODDOOOOOOOOoOooooooo
3 2 _ 12
&{/ | k2smtdt, k= YO Y
0 a

(3 DOO0ODO0DO0O00ODD0O000ODO0O0000O00DO0O0O0OOODOnO
000000000000000000 6377.397km, 0000000
6356.079km D0 000000000000 000000O0OO0O0O0(0O
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5-8

5-9

5-10
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// Sy Ao dy = Plb.d) = Fla.d) = F(b.0) + Fa.c)
gooobooooooooo
R2O0D0D0O0DOOO 1000 DDDDD// dedydz 000000
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00500000 “00” 0000000
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o0 c-0o00 F,GO0000

//D (Ga(z,y) — Fy(z,y)) dz dy
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= / (—F(cos t,sint) (sint) + G(cost, sint) (cos t)) dt
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000000000000000
000000 C: (z(t),y(t) (e<t<b) 020000 F,GO0000

/c (F(x, y)dz + G(z,y) dy)
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DOO0OO0O0OODO0D0DODOO0OD COOO0D0O0O0DO0OO0OD0O0OO00O0OO0DO)O
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